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QUESTION 1

Which two statement are true about SDN WAN implementations? (Choose two)
A. SDN WAN uses VXLAN to connect POPs

B. SDN WAN uses data center orchestration platforms

C. SDN WAN uses a centralized a control plane

D. SDN WAN uses MPLS tunnels to connect POPs

Correct Answer: CD

QUESTION 2

Which statement is correct about alarms in AppFormix?
A. Static alarm are compared against fixed thresholds
B. Alarm thresholds cannot be changed by the user

C. Alarm actions cannot be change by the user

D. Static alarms are compared against historical data

Correct Answer: A

QUESTION 3

What are two reasons to use a vMX over a physical MX Series devices in your deployment? (Choose two)
A. A vMX provides more routing features.

B. A vMX accelerates adding new services

C. AvMX has a lower barrier of entry

D. A vMX increases analytic capabilities

Correct Answer: BC

QUESTION 4
Which two statements are true about virtualized platforms? (Choose two.)
A. The vSRX must have two vCPU dedicated to the vCP

B. The vMX used separate VMs to host the vCP and vFP
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C. The vSRX must have one vCPU dedicated to the vCP
D. The vMX uses one VM to host the vCP and vFP

Correct Answer: BC

QUESTION 5
Which statement is correct about SDN?
A. The SDN controller has a centralized view of the network

B. The SDN controller must provide a manual method for configuration C. SDN simplifies the network by combining the
control and forwarding planes into a single controller

D. The configuration and management of an SDN solution should be distributed to the edge of the network

Correct Answer: A
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